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1 Diferencialinės lygtys atskiriamais kintamai-
siais

Uždavinys 1.1.

2xydy + (1 + y2)dx = 0

2xydy = −(1 + y2)dx∫ (
2y

1 + y2

)
dy = −dx

x

ln(1 + y2) = −ln|x|+ lnC

arba
|x|(1 + y2) = C

Uždavinys 1.2.

e3y sin2 xdx+ cos2 xdy = 0

− sin2 x

cos2 x
dx = e−3ydy∫

− 1

cos2 x
+ 1dx = −1

3
e−3y + C

Uždavinys 1.3. √
1 + y2dx = xydy

1



Uždavinys 1.4.

e−s
(
1 +

ds

dt

)
= 1

ds

dt
= es − 1

ds

es − 1
= dt

−1− es + es

1− es
= −1− des − 1

es − 1

Uždavinys 1.5.
(x2 − 1)y′ + 2xy2 = 0, y(0) = 1

I būdas:

(x2 − 1)
dy

dx
= −2xy2∫

dy

y2
= −

∫
2xdx

x2 − 1
1

y
= ln |x2 − 1|+ C

y(0) = 1, todėl 1 = ln 1 + C

ir
C = 1

1

y
= ln |x2 − 1|+ 1

II būdas:
y∫

1

dy

y2
= −

x∫
0

dx2

x2 − 1

−1

y
|y1 = − ln |x2 − 1||x0

−1

y
+ 1 = − ln |x2 − 1|+ 0

1

y
= ln |x2 − 1|+ 1

Uždavinys 1.6.

xy′ + y = y2, y(1) = 0, 5

xdy = (y2 − y)dx
dy

y2 − y
=

dx

x

−
d( 1y )

1− 1
y

=
dx

x
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Uždavinys 1.7.

x2y′ − cos(2y) = 1, y(∞) =
9

4
π

x2
dy

dx
= cos 2y + 1

dy

1 + cos 2y
=

dx

x2

1

2
tan y = − 1

x
+ C

1

2
tan

9

4
π = lim

(
− 1

x

)
+ C
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